t=90 min,

Lot
e jacy

=30

ST—-29¢2 dla C

ST-138 do studzienkl

dla przeptywu w FPotoku Strzyza p

ocd studzienki

Profil

ISTNI

ston

=17

D Yl
|
el 090 09€
iy . | 26'2 L¥'0 2/+8
oL i E8'S £ 090 | vEE 8318
Y S 10°€ | €60 95+8
Mo
7 RZ
00'T |18'9Z
3
__|/ 192 | 650 6L+L
(%]
00'T |81'89
0
Iy
_Il
9 222! 850 T+
o 00'T |26'S2
H_w 822 290 00'] 26'€1/98+9
ZN ge'2| 890 1/+9
ke 00'T |60'2€
o
! ! +
/ 6€2[ 6L0] 1o le /e o6E9
@\T LE3[ €L |00 919
|
D, 8e'e| 040 . ___|o6+S
v 08'0 52'S2
“ 08'2| S0 G9+G
™ 08'0 |0T'6¥
.
S|
w S/ 12 [ 080 1og lgrraz| OTHS
89C| £/01 000 [/ v6+¥
N ] 88’ €70 0F'0 | 198 |98+
o o ¥S'2| 080 8/L+%
-
o~ 0v'0 |£6'09
o
|
(% . .
h \ \ 82| L1T] o\ beeo L1HY
T [92] 22T £6+E€
ol o 0t'0 |6T'EE
N
Y A _ _
iRz \\ 6921 681 hy0 |pe12/07E
T
~ 9 02| SS1 8E+E
™ 0v'0 #6'L2
N|\D |
i ﬂﬁ / SSE| LLT] gprg |12°g7] OTFE
|
ALz 98'€| ¥8T| 0v'0 |£0'21/26+2
. 7€ a8 6/+2
N 0v'0 |L¥'0%
N
- 2ce| 861 6E+2
w\ 0¥'0 [FE'OY
n
@ 06'€ a2 66+1
m 0¥'0 |19'6€
|
o v 207 | G2'2 6G+1
m 0t'0 S8'8€
|
Y 2v'v| L22 02+1
S 0£0 [8ETH
A
M, AR YA 6/+0
o 0E€'0 |L0'6E
i
8¢ 9G'v| €42 0v+0
™ 0E€'0 CL'6€E
|
VI [9Y] 662 00+0
e £ E £ E
m.m > S S U U
&< < < u 0 0
¢ 5 f 5 ¢
.mt@ v S w > %
c £ CWJ + C C m =
vl o e ) e
QZ.m (- S 474 O
v O0COo - N
J4 Q- X o) (0’4
474
|| N
(0’4




